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40keV-100keV electron injections during magnetic storms

# Takahiro Obara[1]; Haruhisa Matsumoto[2]; Mitsuru Hikishima[3]
[1] PPARC, Tohoku University; [2] JAXA; [3] Grad. Sch. Sci., Tohoku Univ.

Followings were newly found by the LPT instrument onboard GOSAT satellite;

1)Injections of 40kev - 100keV electrons during the main phase of the magnetic storms occur intermittently.

2)The injection reaches to the very near Earth region; i.e. L=3.

3)In accordance with electron injection, Dst index falls simultaneously.

4)In the recovery phase of the magnetic storms, injection ceases.

5)Around L=3 - 5 region there remain trapped electrons for a few days.

6)The flux of trapped electrons decreases gradually.

The new observations by GOSAT satellite give good clue to understand a relationship between storm and sub-storm. Actuall
GOSAT satellite sometimes observed large injections of 40 keV - 100 keV electrons to the center of ring current region; i.e. L-3.
The injection was associated with the enhancement of auroral activity: i.e. increase of AE index. We like to demonstrate som
examples to show simultaneous occurrence of 40keV - 100 keV electron injections together with increases of Dst and AE indexe
in the talk.
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